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M- - SA(3) - MRAY - BES Ofl kel | & A Hlns
ANT Sl2S 245,040 230,257 14,783
DY HOEAlCl FYSXME RS (SL2S) 126,553 100,970 25,583
HY2XME 29 X (sU2s) 126,553 100,970 25,583
SRR (SU2) 115,520 88,920 26,600
301 L2 115,520 88,920 26,600
07 S& - 0% - NS SEAS 115,520 88,920 26,600
Oosazgsga 115,520 88,920 26,600
—Jle+y 400,000 x 19 * 128 91,200 68,400 22,800
—&02 400,000+ 19 *23] 15,200 11,400 3,800
DIRIALR I 2l (SLH2) 10,577 11,594 21,017
201 LeteHy) 10,577 11,594 ~1,017
2 B3294| 5,829 6,846 ~1,017
ORERS 5,829 6,846 ~1,017
-S| 2,530 17521 x 128 5,313 6,072 NT59
— ot 4302 %1002 * 128 516 774 A258
A S0t FOUXX 2 L3HEU2S) 30,825 33,105 A2,280
FOIXXIME 22 (SU2S) 23,510 25,790 N2,280
FOITIRIAIE 22 (SU2) 0 1,440 A1,440
301 L2 0 1,440 A1,440
14 IR A2 0 1,440 A1,440
OFOUXIXIME KHAZS AR SAH|
0 0 1,440 A1,440
ZOITHXI B 29 (sU2) 23,510 24,350 N840
201 LBH29Y| 16,310 17,150 N840
01 AFR222ll 15,710 16,550 N840
OFLURAIS| VLTV sl0] Fag
70,0002 %3 * 13 210 1,050 N840
OLMBIT BOHE DIS&d TA(BLH2S) 11,464 14,824 13,360
MA=Cl olgtel 2H(SU2s) 4,512 7,512 A3,000
oletel NS (SU2) 4,512 7,512 3,000
201 LH29Y| 4,512 7,512 3,000
® Z229Y| 4,137 7,137 3,000
oRBRB 4,137 7,137 3,000
=) 2,5302%1,584 A 4,008 6,578 A2,570
—uot 43021 %3002 129 559 2430
AlZSEE ML - THoll THEMAH = (SLULH2s) 6,952 7,312 360
ELHEl 29 (5U2) 6,952 7,312 A360
301 LetEE2 6,952 7,312 2360
06 AHELrH i AH| X 6,952 7,312 1360
OXegsHn AdIXH 6,952 7,312 A360
—SF0 120,0002 122 1,440 1,800 360
Y 2HAHI(SU2S) 33,568 38,368 4,800
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DA SL2S
A SAAH|(SU2=E)
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Jl23tl(sU2s) (SH &)
M- - SA(3) - MRAY - BES Ofl kel | & A Hlns
Jl=2dl(sU2s) 33,568 38,368 4,800
Jl22dl(sU2s) 33,568 38,368 14,800
202 04| 10,176 14,976 ~4,800
01 20t 10,176 14,976 A4,800
OSH= Ol TE A&
4,800,000 A4,800 0 A4,800
HRes(sU2s) 600 960 A360
BHNE(SU2S) 600 960 1360
SHE2D|EHSW2) 600 960 1360
802 a0 E 600 960 1360
03 J|EIEHEI 2 S 600 960 360
OUEHIIZ tHE Z30l 2 erat2
10,0002 x5+ 12 600 960 360




